Name________________________

Period____ Date_______________

Molarity Problems


1.  Determine the molarity of a solution made by dissolving 20.0 g NaOH in enough water to make 0.48 L of solution.

2.  How many grams of BaCl2·2H2O are needed to prepare 25 L of a 0.10 M BaCl2·2H2O solution?

3.  What is the volume of a 6.0 M NaCl solution that contains 1.05 mol NaCl?

4.  What is the volume of a 5.2 M KBr solution that contains 21.0 g KBr?

5.  Calcuate the molarity when 75.0 g of MgCl2 is dissolved in 500.0 mL of solution.
Molality Problems

1.  Determine the molality of an NaCl solution containing 55g NaCl and 860 g water.
2.  How many grams of water must be used to dissolve 100 grams of Sucrose C12H22O11 to prepare a 0.2 m solution?
3.  Determine the molality of 3000 g of solution containing 37.3 grams of KCl.
4.  What is the molality of a 5.6 M NaBr solution whose density is 0.98 g/mL?
5.  What is the molality of a KCl solution that has a density of 1.04 g/mL and a molarity of 2.4 M?

% Mass Problems

1.  Determine the mass percent of a LiBr solution that contains 5.9 g LiBr and 40.0 g water.
2.  Determine the mass % of a NaCl solution if 58.5 grams of NaCl was dissolved in 50 ml of water (assume the density of water to be 1 g/ml).
3.  How would you prepare 500 grams of a 20% by mass NaOH solution? (How much NaOH and how much water would be needed?)
4.  If we wished to prepare 400 ml of a 10% by mass NaCl solution, what mass of NaCl would we use? Density of the solution is 1.05 g/ml.
